B-892(3)

VIDEC
B 1% 3 B3 B

HS5D/5E/5LARY T4 25 FL—F
HS5>1)—X

COEG. IDECERERBNLITVEREE, HOHESTINET, TEXDORSIC
RHEVDZVDTRBND D Z. CORIRFRBEEBORNBTEL RFHEAUVZESE, ELL
CIEALKIEEL, Fe. CTORKRHREBED—FRICTRIICRELSIZE,
[R2EDCEE
AEUREHBAE TR RSV IRNE UIZBSICE LR T ENFTREINDBIRIC DT
FERJELUTRRLUTNET, ZORKEIUTDEOTY,

/A B

BIRNERORIBE. AESEESNMMBSNRET DTREN DD XY,

1 B |
HS9Z-SP51
2 B |
BEHE HS5D / HS5E / HS5LIEZE 21 v F
& A6063 P)LV A1 g
HE #1180g

« CHEAOZERA v FABOHERICDNTIE. HS5D / HS5E / HS5LIEZ =2
v FOERESRES,

B (om) |
HSSERY (785 POF 2T -SmE
(HS9Z-A51 {5 FA6%) 264/ 42.2 N W
8211562 B e
55 _|
3 8@3% | N ]
* @
P0F21-5| 36.2 106
s ; 145.7 J L6
© ] -
o
m = |
VT vT }'HJ SEN

IJU—FBEE 2|

[ —

b POF 1T SRIRLE
HS5LET I8 264/ d95

Hsoz-AstREmE) B o

FTaa T

fl | JIE2N I

N g TR

)

51 030 prg,1-5 | 362 86.5
[RIERASSIAY; 127

i

Q
5

= A
2l
ROVFeVT |  e—
JU=rEEE ST [ T T

HS5LY —J)UiES IS  TEMY(T 85

(HS9Z-A51 (&) POF 2T —IREE
264/ 422

HS5DEVY 1785 POF1T-SREEE

(HS9Z-A51 75 F0%) 264/ 422 N
62,152 |4

J
15
e

f
vovrovr it = |

JU— hERfYE [

e H /260

T
=)
<

B
T
i)

IE
S

~ " HS9Z-A52

ROIVT A VT TU— M EBDESIC2AOME L THREICEE L TS,

+ HS5L7 —J)LH#3IH S « T (HS5L-0A%SM-G) & C@RDIBSEIE. ¥ I YT 1
VITU—=rEILU—ASCROFITOSZR R v FEROHT TS0,

« SR UBIDHEERIY ~ILD

HS9Z-SP51

YIDEC

INSTRUCTION SHEET
Mouting Plate

For HS5D/5E/5L Safety Switches
HS5 Series

Thank you for purchasing this IDEC product. Confirm that the delivered

product is what you have ordered. Read this instruction sheet to make sure of
correct operation. Make sure that the instruction sheet is kept by the end user.

‘ SAFETY PRECAUTIONS

In this operating instruction sheet, safety precautions are categorized to Caution:

/\ CAUTION

Caution notices are used where inattention might cause personal injury or
damage to equipment.

Type |

HS9Z-SP51
H Specifications |
HS5D / HS5E / HS5L safety switch

Applicable model
Material Anodized A6063
Weight Approx. 180g

ST BILD
HS9Z-SP51Ed (M61a L) 4.8~52Nm
LEA Y FAKERIY (M4 L) 1.8~2.2Nm

= XEGAL. Ty FIRBRICTTARESL,

o HEMBN RLOCHBERNEER. RUOYIRIERAITIRE LTI
NKSICHRELRBNLET .

e NOYT A VITU— b RURERA v FESRICROASNBNKLSICTD
ZHICIE BHRUICTRONI DO, BEOUNY FEE—RTETROSH
FTENTERNRL I ZHELET.

[ 4 LTRSS

o RS, BSNU. BRIFERKIORT - miRld. MFBRZD > TIT o T
S\ BERSIUNKDBIRD'GOET .
ARERNYITDEDDREEFTDER LTS,
EOBEICEANDSTARERD by /NELUTRAURNTL S0, BEOR
IHEDIC IS R P 2 by NVERITARRVRERA v FICBRIBANHD
SBNKSICUTES, FL. B2 v FICOY DRELREEBZD
BWEONMDSBNKSICUTLEE, H— RERA v FICO Y D@EE
BEBAZEENFREINDIBER SO0y VEZERA( vF (HS5DFZ
E2A Yy FBRE) VLYY BEICK > TROBRRZERE U THMANMEIET DY
27 LEBIULTIIES,

HSS5E / HS5LIPZE 21 v F DO w U EHHISHEET1400NTY. L5
Oy UBERKEZBZDHENMNSBNKSICLTIES.

H &0+ m) |

[ 170

2128
:ﬁf‘@ze.e 3

h)

40
+
2
14
4|+

6.2 5.2 QL 6 — - i
- ) 5
oF et - - |
[ IRE I I o Slninsmt FL*%
SR Al » 3 =
5_ 050 | pr51_5] | 362 106 T
BEZ o/ | 1542 ﬂ BERLOEE |
a0 ARRPERET M, EERBNE L TROTIES,
— N
(m\ 7 IDEC Hﬂﬁ*i http://www.idec.com/japan/
~ V% E “’r’ it T532-0004 ABhiE)IRISFE2-6-64 TEL:06-6398-2500
VT VT HABICCREEANCINELES, FRORRMSEROABHENSHELEE,

JU—tBRE 2

I I ,thT
2-MetaL K
(%) HSBL 7 — 7ILi3I% 1 7 (HS5L-0A%SM-G) TCEANESE, 2

ROF(AYYY ) DY A ZEER LU TR RLEREL S,

0120-992-336 [Siﬁé‘f‘?iﬁf/m:OONW;oo }
#7655 - PHSOBS 050-8882-5843 | - O, maRsUsungaind
2016.4

« Refer to the specifications of the HS5D / HS5E / HS5L safety switch for
the specifications of the safety switch for used.

Mounting (mm) |

Instaling HS5E Safety Switch
(Using the HS9Z-A51)

RP: Actuator mounting
reference position

o
Mouting Plate }'HJ N
Mouting Surface ol — 7 u IR
- Zf-MB Screw
Instaling HS5L Safety Switch
(Using the HS9Z-A51)

>
'b'é

P~

36.2 86.5

RP
264/ 422 N
62| || 52 NL

ik
@!\
[

Actuator Sto
=]
5|y

Mouting Plate 1 5
Mouting Surface o [ i i i

Instaling HS5L Cable Side-Routing Type p
(Using the HS9Z-A51) | 264_/ 42.2
ol mIEA N
N[ S I

I
6.2 52 NL
OJ Actuator [ 362 [ 106
Tactuator Sop | | T 154.2
ctuator Sto =

oF 1

:

\

=S|

Connector
(Conduit)

Instaling HS5D Safety Switch
(Using the HS9Z-A51) RP

J
15
B

Mouting Plate
Mouting Surface [ T T ol

2 - éi‘MG Screw
Example Instaling HS9Z-A52 on door (t5)

Frame

22

:% Adjustable
’-—_

Sl
S

5

HS9Z-SP51 HS9Z-A52

+ When installing the HS9Z-SP51, mount tightly using two M6 screws.

« When using on an HS5L cable side-routing type (HS5L-C1/\*SM-G), install
the mounting plate onto a frame, etc. before installing the Safety Switch.

+ Recommended Screw Tightening Torque

| |

Screw Tightening Torque
4.8105.2 N'm
1.8102.2 N'm

*Mounting bolts must be provided by the users.

For mounting the HS9Z-SP51 (M6 screw)
For mounting the safety switch (M4 screw)

/\ CAUTION

» The above recommended tightening torques of the mouting screws are
the values confirmed with hex socket head bolts. When other screws are
used and tightened to a smaller torque, make sure that the screws do
not come loose after mounting.

+ To avoid unauthorized or unintended removal of the safety switch and
the mouting plate, it is recommended that the safety switch and the
mouting plate are installed in an unremovable manner, for example
using special screws or welding the screws.

n Precautions for Operation

/\ CAUTION

« Turn off the power to the safety switch before starting installation,
removal, wiring, maintenance, and inspection on the safety switch.
Failure to turn power off may cause electrical shocks or fire hazard.

Make sure strength the part where HS9Z-SP51 is installed.

Regardless of door types, do not use the safety switch as a door stop.
Install amechanical door stop to the end of the door to protect the safety
switch against excessive force. Do not apply a load higher than the rated
value. When a higher load is expected to work on the actuator, provide
an additional system consisting of another safety switch without lock
(such as the HS5D safety switch) or a sensor to detect door opening
and stop the machine.

« The actuator locking strength is rated at 1400N of static load. Do not
apply a load higher than the rated value. (Type HS5E/HS5L)

B Dimensions and Mounting (mm)

170
4 b
oL 1
86.5 |
10 106 !
187

Y @)
éWi

Mouting Plate 9 |
Mouting Surface = [ i il il

2-M6 Screw /- g
(*) When using on an HS5L cable side-routing type (HS5L-C1/\*SM-G), take the size
of the connector (conduit) into consideration when selecting mounting screws.

ﬂ Precaution for Disposal |

« Dispose of the HS9Z-SP51 mouting plate as an industrial waste.

I DEC COR PORATION http://www.idec.com/japan/

2016.04




